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GENERAL INSTRUCTIONS :

Read the following instructions carefully and follow them :

(1)

(ii)

(iii)

(iv)

(v)

(v)

(vii)

(viii)

(ix)

2159/4/2

This question paper contains 30 questions. All questions are

compulsory.

Question paper is divided into FIVE SECTIONS - Section A, B, C, D
& E.

Section A — question number 1 to 12 are multiple choice type questions.

Each question carries 1 mark.

Section B — question number 13 to 18 are Short Answer type questions.

Each question carries 2 marks. Write answer to each question in

50 to 60 words.

Section C - question number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write answer to each question
in 100 to 120 words.

Section D — question number 24 to 26 are passage, cartoon and Map-

based questions. Answer each question accordingly.

Section E - question number 27 to 30 are Long Answer type-II
questions. Each question carries 6 marks. Write answer to each question

in 170 to 180 words.

There is no overall choice in the question paper. However, an internal choice
has been prouvided in few questions. Only one of the choices in such

questions has to be attempted.

In addition to this, NOTE that a separate question has been prouvided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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TUE —F
YA TEAT 1 W 12 T Sgfashedi TRk 1 AR F AT E | 12x1=12
1. YA 0 ST O e TUe 1 T 8 7 1
(A) frg B) 3w
(C) TR WS (D) HTTeivE

2. 9 A frefafeaa d & fem stufrafyes smem @ svenfirn i sfa @ & foag s

T e g 7 1
A) fafem B) e
(C) dameft (D) ==

3. freferfad o & @ %o fou 2 5w @ w1 3rfiekem (A) quT g S HRT (R)
g 31ferd Topam T 2 | 39 A 1 e9H ¥ ufeu R = few wu faswedi (A), (B), (C)
3R (D) ¥ 3T &9 4 gl foehed g : 1

arfireRem (A) : Torst A9t the (MINF) 3 Tt o fote werer S1fmam 3 foham o |
HROT (R) : Tt o o1 fisTT UeTet & sl 37 o 3T e ST STeTT ST 7717 o7 |
farerea

(A) 3fpYT (A) 3R SR (R) SHT H&T @ 3T &RoT (R) 3Afirehem (A) 1 T8l samen
2l

B) 3fFHYT (A) 3R HROT (R) SHT H&l & 3T HR0T (R) AfThe (A) & T&) =amen
Er
(C) 3Afiped (A) Tl g 3R HHr (R) TeAd 2 |

(D) 3fRY (A) TeTd & TR HRT (R) 981 2 |
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SECTION - A

Question No. 1 to 12 are Multiple Choice type questions carrying

1 mark each. 12x1=12
1. ‘Karbis’ community belongs to which State of India ? 1
(A) Manipur (B) Assam
(C) Arunachal Pradesh (D) Nagaland

2. India made earnest effort for the early realisation of freedom of Indonesia

from the colonial regime of the . 1
(A) British (B) French
(C) Portugese (D) Dutch

3. In the following question, Statement of Assertion (A) is followed by a

Statement of Reason (R). Choose the appropriate option as the answer. 1

Assertion (A) : The Mizo National Front (MNF) started an armed

campaign for independence.

Reason (R) : After independence the Mizo Hill area was made an

autonomous district within Assam.
Options :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct and (R) is not the correct explanation of
A).

(C) (A) is correct and (R) is incorrect.

(D) (A) is incorrect and (R) is correct.

2159/4/2 5 P.T.O.
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4. =97 fpa v fassq s o feram o 7

(A) 1950 (B) 1954
(C) 1960 (D) 1962

5. WA 1 VW T IS 3TRH hiF T ?
(A) TH.UA. IHR (B) gHURTH
(C) &.91.%. W (D) IR.%. B

6. 9Rd o fohT U9 § HEgfaee Urdl &1 A H gt IR SAlhditeh gATEl b H1ed | Tl
ITH g8 ?
(A) ufeew s B)

©) Bgm (D) =g

7. TafaRed w7 o S %o fou Tu & f5H 8 v #i IfrewdE (A) T g & SR (R)
g0 3ifeRd Toha 7o 7 | 39 AT w1 €I A ufgu 3R R o T faskedt (A), (B), (C)
3R (D) ¥ ¥ W &9 4 Tl foehew g :
afirRem (A) : A, = 3R 3171 ferprarsfier Sii b1 FTel WTelehict <l Seadisti & &
g o |

HROT (R) : 3TIieRTor o SR 3 <1 H M3 191 1 IcHeH 0 @TH T8 97 |

ferepea

(A) 3fRUT (A) 3T SR (R) THT H&t 8 3T HRT (R) 3T (A) 6 Tet =3men
=

(B) 3fhUT (A) 3R HRU (R) THT &t & 3R HRT (R) 310w (A) 6 w&t ==men
T

(C) Iirped (A) &t 2 SRR (R) Terd 2 |

(D) AR (A) TeTd & SR HRT (R) TET 7 |
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4. In which year did China annex Tibet ? 1
(A) 1950 B) 1954
(©) 1960 D) 1962

5.  The first Chief Election Commissioner of India was . 1
(A) S.L. Shakdhar (B) Sukumar Sen
(C) K.V.K. Sundaram (D) R.K. Trivedi

6. For the first time the communist party came to power through democratic

elections in which state of India ? 1
(A) W. Bengal (B) Kerala
(C) Tripura (D) Manipur

7. In the following question, a statement of Assertion (A) is followed by a

statement of Reason (R). Choose the appropriate option as the answer. 1

Assertion (A) : India, China and other developing countries were

exempted from the requirements of Kyoto Protocol.
Reason (R) : Their contribution to the emission of green house gases
during the industrialisation period was not significant.
Options :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct and (R) is not the correct explanation of
A).

(C) (A)1is correct and (R) is incorrect.

(D) (A) is incorrect and (R) is correct.

2159/4/2 7 P.T.O.
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8. -1 w1 gt-11 & Tl oot hifsre 1
TEi-1 e-11
a.  3TeTehiceh! |y i. 1997
b.  wifeaet Wehiel ii. 1991
c.  JACThiceh! UAERVI Wbl iii. 1987
d. I WA iv. 1959
Tarerea
a b ¢ d
A) iv i i i
@) i i i v
(C) i iv i i
@) i i iv i

9. 3T IATRIH IFTTERT <l TN H, T A ol AT b (AAfARgd H BRI paT AT 7 1
(A) IrETE (B) e
(C) romef (D) 3t

10. STe SIS ¥ 379 I3 o T 39 FoaR TR SIHRRT AT haat & a1 39 JiRAT bl 31

HEAE 7 1
(A) TEFHA T B) &frEmi w e
(C) forvama wrEreft (D) It Fqer

11. % & 7ed TRETE <0 A 2001 T ¢H ¥ 8 g 1 AT fohall ? 1
(A)  dfSteRe (B) S
(C) Ielfehea™ (D) TSRS

2159/4/2 8
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8.  Match the List-I correctly with List-II : 1
List-1 List-I1
a. Antarctic Treaty 1. 1997
b. Montreal Protocol . 1991
c. Antarctic Environmental Protocol  iii. 1987
d. Kyoto Protocol 1v. 1959
Options :

a b c d

A v 1 o1 1
@ 1 1 i iv
© 1 v 1 111
D) w1 iv i1
9. People who seek better economic opportunities abroad are called _ . 1
(A) Immigrants (B) Migrants
(C) Refugees (D) Non-Residents

10. A process in which the countries share ideas and information with their

rivals is called . 1
(A) Allhance Building (B) Arms control
(C) Confidence Building (D) Balance of Power

11. Which Central Asian Republic witnessed a civil war for ten years till 2001 ? 1
(A) Tajikistan (B) Kazakhstan

(C) Uzbekistan (D) Azerbaijan
2159/4/2 9 P.T.O.
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12. Trafefad aemei # Sroshaar safed e a2 3o & &9 1 T8 fasked e : 1

() ®\FHIHI

() TR T Hife=rd ATsHAu

(1) feaa g w1 foerea

(v) Tt fowa gg =1 31

fererea

A) @), (i), (i), (v) B) @), (i), @v), (i)

© @), (i), (v), (i) D) @, (v), (i), (i)

QU -« 6x2=12

13. gt urferzar & i = ferer shreon ufgerdt urferear & wygea o1 foie fopanm ? wm fifse | 2
14. YT GUETT o Ueh U<h o T H “ITth T ! SATEAT HINT | 2
15. @TEifieh SoReh AATEehR o YT oh! WA o foTT Rl STRGH YT 3R WaATeh hal 7T 7

TE HIT | 2
16. TG % THI WA o GUeT fqh™ & HH A S Aigd & ? 39eh 4 fAgu | 2
17. UTCHTieh GUETT o Ueh Ueeh o & H “ITeh Tqer ! SATEAT SHIT | 2
18. 1990 % &g & 31 U<l Sfei o TSt 3¢ o SHROT hl IATR T | 2

2159/4/2 10
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12. Arrange the following events in chronological order and choose the correct

option as answer : 1
(1) The Russian Revolution
(11) The Soviet invasion of Afghanistan

(111) The disintegration of Soviet Union

(iv) The end of the World War II

Options :
@A) @, (), (i), @v) B) @, (D), (v), (ii1)
©) @, Gib), @v), 1) D) @, av), W), (111)

SECTION -B 6x2=12

13. Why did the people of East Pakistan resent the domination of West

Pakistan ? Explain the reason. 2

14. Explain ‘Balance of Power’ as a component of traditional security. 2

15. Why was India’s experiment with universal adult franchise described as
“bold and risky” ? Explain. 2

16. Name the two models of development before India on the eve of

independence. 2

17. Explain ‘Balance of Power’ as a component of traditional security. 2

18. Highlight the reason responsible for the political rise of other backward

classes since 1990. 2
2159/4/2 11 P.T.O.
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19.

20.

21.

22.

23.

2159/4/2

Qg -1 5% 4=20

IS I 3T et Y Qe &3 ot fopedl &1 s & ife Frewres fagr=ai Y e
HifeTT | 4

“tteh A | AT T o o TIRTSHT ShT SHLaEdT 78 81 718 |” fehedl < hl o mneam &
% I T 38U | 4

(a)

(b)

(@)

(b)

1975 § WA H ST U 3TITdehidl 8 R U fopdl @ 91ai (Heeh]) &l IR

T | 4
Jroqan
1975 H YR T ST 7T ATITdehT o fehegl = RO ol STPR SHIfT | 4
IvfiRTT | T[S IR JATET o1 ST I | 4
rqa
IYARTT o TTaUe & hig TR HRIT T HIRT | 4

FTHTAAT G IS H 319 ITET o TRRTH I81 U, gl ThR & faog T o5,
=gl €1 T 1 == IS | 4

12



I —
SECTION - C 5% 4=20

19. Explain any two Directive Principles of State Policy that promote

international peace and security. 4

20. “Shock Therapy brought ruin to the economies of the former republics of

the Soviet Union.” Justify the statement with any two arguments. 4

21. (a) Highlight any two lessons learnt from the imposition of Emergency in

India in 1975. 4

OR

(b) Highlight any four consequences of the imposition of Emergency in

India in 1975. 4

22. (a) Explain the four flows related to globalisation. 4
OR

(b) Explain any four reasons for resistance to globalisation. 4

23. Explain any two reasons for the resentment of the Akalis against the Central

Government in the initial years of their rule in Punjab. 4

2159/4/2 13 P.T.O.
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Qs —-¥ 3x4=12

24. Fr feu T st 1 e 1 ufed 3R frefafad wwat & s fafge -

Afeges Tt o Ir=wtd, TateRel geg W 1R eI < i ufska 3 sefiaT &
T € Sl # g9 TgHd o Tt 3R faehT W Hg¢ W hiwd U e | 39 ®9

foram | st geaht- e Tt +f et T | 4x1=4
() gedt-TereR awre fore ad gam o ¢

(A) 1990 B) 1991

(C) 1992 (D) 1993

(i) Treferfga o & fore a1 b1 Y TErhict shi sTearanati & ge & s off 7
(&) HIH T STIHT
(B) FrEes fhrew
(C) wHE
(D) =

(i) Tr=ferRaa d @ =W a1 faswen T firer - it o1 afom 7=t o ?
A) TwivE21
(B) wad arei foemtd
(C) st v 31eTT-31er foeriat
(D) N FIErhIA

(iv) 3 % gueh & ue 4 Fferiga 4 @ ferees o 37 wia o fog @ion mam an 2
(A) 3IFTATUEH HETERR
(B) TRIT HEEFR
(C) 3icTehiesh

(D) 3TTehidsh HETHENR
2159/4/2 14
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SECTION - D 3x4=12

24. Read the passage given below carefully and answer the questions that

follow :

The growing focus on environmental issues within the arena of
global politics was firmly consolidated at United Nations Conference on
Environment and Development held in Rio de Janeiro of Brazil. This was
also called the Earth Summit. 4x1=4

(1) In which year was the Earth Summit held ?
4) 1990 B) 1991
(C) 1992 (D) 1993

(i) Which one of the following countries was exempted from the
requirements of the Kyoto Protocol ?

A) USA

(B) United Kingdom
(C) France

(D) China

(111) Which one of the following was not an outcome of the Rio Summit ?
(A) Agenda-21
(B) Sustainable Development
(C) Common but differentiated responsibilities

(D) Kyoto Protocol

(iv) The Ozone hole was discovered in the mid 80’s over the
(A) Atlantic Ocean
(B) Pacific Ocean
(C) Antarctic

(D) Arctic Ocean
2159/4/2 15 P.T.O.
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25. ¥RA % feu e T @r-amts 3 =R TE i (A), (B), (C) 3R (D) & g 3ifha
fr man 2 | R S TS IR % ATUR W 39 TSIl 1 g hifd 31T 370 IR-
GfEqept | $eh TET A, SRR 61 T BRI T shH F&AT a2 gHfaa | fen o gefera

e, = & e difetent o w9 1 fafgw :

@

T <hY T8 SRR ht
THY T

aarmEfen | A Am
T FEteE AeR

@)

(i1)

(ii1)

(iv)

a8 T 8 19 o qd 3Tee . BT T T4 o7 |

(i) I8 TS TGN Y I TH, T TH’ HgTad T S+ 3T |

(i) % TS EE & TUTHHT AT SE1GL ITet 31 9y o |

(iv) T8 TS TG 1967 o faerm-gaer gATat H S 41t bl SgHd STH T8 g7 o7 |
— T T ,,/'%:.%}.\\.\‘i, ! ! : . T ’

N, \‘!_/

T

o

o,

. A )
3 P

o : oL e ._,r’l
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25. In the given outline Map of India, four states have been marked as (A),
B), (C) and (D). Identify the States on the basis of the information given

below and write their correct names in the answer book alongwith the

respective serial numbers of the information used and the concerned

alphabet as per the format that follows :

Sr. No. of the Alphabet Name of
information used concerned the State
¢))
(i1)
(iii)
@iv)

4x1=4

(1) The State to which the former Congress President K. Kamraj belonged.

(i1) The State from where the phrase ‘Aya Ram, Gaya Ram’ originated.

(111) The State to which former Prime Minister Lal Bahadur Shastri

belonged.

(1v) The State where the Congress Party did not get majority in 1967

assembly elections.

)] T T T T
e o4 o8 L i e L
5 {/:f ~

7

2159/4/2
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e : ferRa ST St g i g, e e 25 FemwE | dx1-4

(25.1) 39 UST 1 AW fARgT &t 1967 o faum -9 g1 § HE" 91l ! 9gqd
YT & 377 T |

(25.2) 3 USF 1 AW fARaT eE g6 T S SeTg A geta 9 |

(25.3) frrTST g ‘I Tm, TR T haTad ol ST=H 311 4T 7

(25.4)  TohE TSI O Y % T 3187 . HIHUS hT HEE- AT ?

26. = feu mu it @ wEfa #iga &1 e Fifve 3R frafafea e % 3w
et 1+1+2=4

(i) e femman mn ‘ama’ fore wyer w1 wfaffra s g
(i) 1A | femman w3 forw wyem o1 wfaffra s g o
(iii) TSTYE GRI A S % s o1 91 3230 & 7 T8 HITT |

2159/4/2 18



Note : ’f‘ile following questions are only for the Visually Impaired

Candidates in lieu of question number 25. 4x1=4

(25.1) Name the State where the Congress Party did not get majority
in the 1967 assembly elections.

(25.2) Name the State to which the former Prime Minister Lal
Bahadur Shastri belonged.

(25.3) The phrase ‘Aya Ram, Gaya Ram’ originated from which State ?

(25.4) The former Congress President K. Kamraj belonged to which State ?

26. Study the cartoon given below related to Sri Lanka and answer the

questions that follow : 1+1+2=14

(1) Which community does the tiger shown in the cartoon represent ?
(i1) Which community does the Lion shown in the cartoon represent ?

(ii1) What did the balancing act by Rajpakshe aim at ? Explain.

2159/4/2 19 P.T.O.
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e : Fmafalaa T e gieantera wftenfefa < fog, e wean 26 & M WE |

4x1=4
(26.1)  #ficiehT < &1 @ wHERET o A fAfa |
(26.2)  forg =1 foga & fafaw |
(26.3)  #ficioht fore o Taa gaTT ot 7

(26.4) B T U A TR & AT qud H qeaRy 6 qfyewt g 7 3w M
fafau |

Qg - 4x6=24

27. (a) WRA 1 3rferepier Terifers wifdal & offer 3w wgmfa & fonedi i weargel qegi 6

ST T | 6
e
(b) 1989 % TTE WA H ST TS-4 1 THRI o Tohral I AT ohl STEAT I | 6
28. (a) I TE 1 fawa &1 h gumEeell ST WeT oW 9ot Rl IR hReT &
fergersor ST | 6
e
(b) & TSI i TG i o Tehed] =T e o1 ferverwor Hif | 6

2159/4/2 20



e

Note: The following questions are only for the Visually Impaired
Candidates in lieu of question number 26. 4x1=14
(26.1) Name the main communities of Sri Lanka.

(26.2) Write the correct expansion of LTTE.
(26.3) In which year did Sri Lanka get independence ?

(26.4) Name the country which mediated in the Ethnic conflict ?

Sri Lanka.

SECTION - E 4%x6=24

27. (a) Explain any three important issues on which a consensus has

emerged among most political parties of India. 6
OR

(b) Explain any three benefits of the coalition governments formed in

India since 1989. 6

28. (a) Analyse any four factors that make the European Union an

influential regional organisation of the world. 6
OR

(b) Analyse any four objectives of establishing the regional
organisations. 6

2159/4/2 21 P.T.O.
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29. (a) TEAAATSh L UYETd, YA o THET TS fehegl i T T JUT Ity |

YAt

(b) WRA U geuaTe fmed o foe™ & qd 1 ge1sti o1 v it |

30. (a) I UY G URNG o TS A 38 3fereh Yrefies s o foTu searfara gami s
Ui T |

YT

(b) 3ftd Ig 1 TETf = a1g v Terffar § 31w fopedl = afterdi o1 v Hife |

2159/4/2 22
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29. (a)
(b)
30. (a)
(b)

2159/4/2

Describe any three challenges that India faced immediately after
independence.

OR
Describe the events that led to the merger of princely state
Hyderabad with India.

Describe the composition of the United Nations Security Council and

the suggested reforms to make it more relevant.
OR

Describe any four changes that occurred in world politics after the

end of Cold War.

23
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